PREHLED USPESNOSTI HRACU V JEDNOTLIVYCH ZAPASECH

REBESOVICE A _— §EN1<)?F“{ NEMEC VASULKA VRBACKY | JAMNICKY | SEDLACEK PRYMA CERNY CERNY
OPI. JIRI STANISLAV PAVEL PAVEL JAN JOSEF MILOS LIBOR RADEK

BODY | % | BODY| % | BODY| % | BODY| % | BODY | % | BODY | % | BODY | % | BODY | % | BODY | %

Radostice A - RA 11:7 | 11 3(333[0 1 3|00 /11 3]|333 | 11 3]333 | | |

RA - Tisnov D 10:8 12 1 4/500(2 1 4|500(2 | 4|500/[3 | 4|750 | | | | |

SK Kufim B - RA 126 |31 47501 | 4|250(1 | 4250 | | 01 4| 00 | | |

RA - LaZzanky A 14:4 |3 1 47504 | 4]|100,0[2 | 4] 50,0 | | | 31 4750 | |

Mokré B - RA 126 |2 1 45002 | 4|/500/(1 1 4250 | | 01 3|00 | | |

RA - Telnice A 126 |31 47503 | 4]750(2 1 3|667[2 | 3]|66,7 | | | ol 1| 00 |

Oslavany A - RA 3:15 [[4 | 4|100,03 | 3(100,0(4 | 4|100,0f{2 | 4| 50,0 | | | | |

RA - Nové Branice B 10:8 131 47503 | 4|750(2 | 4|500/[2 | 4500 | | | | |

Hru$ovany B - RA 5:13 (2 1 4]500(3 1 4{750(3 1 47504 | 4]|100,0 | | | | |

Silivky B - RA 14:4 |11 42502 | 4|s500[0 | 4| 00111 4250 | | | | |

RA - Mor.Kninice A 14:4 |3 1 47503 | 4|750(3 | 4|750[3 | 4| 750 | | | | |

stav zakladni ¢asti 7-0-4 (126 | 40| 65,0 |[27 | 42| 64,3 (|20 | 42| 47,6 [[18 | 30| 60,0 I 1 | 10{ 10,03 | 4| 7500 | 1| 0,0 I

RA - Mokra B 126 [[3 1 4] 7503 | 4|750(3 | 4| 750 | | | | 114|250 |

Sildvky B - RA 126 o | 4] 00 (2 | 4[{500(2 1 4|/500(2 1 4500 | | | | |

RA - Radostice A 11:7 |3 | 4{750(3 | 47502 | 4|/50012 | 4500 | | | | |

Tisnov D - RA 7:11 (3 1 47502 | 2{10002 | 45004 | 4]|100,0 | | | ol 2| 00 |

RA - SK Kufim B 15:3 13 1 47504 | 4|100,0{3 | 3|100,0[[3 | 4] 75,0 | | | | |

Mokra B - RA 6:12 |3 1 4| 7503 | 3[{10002 | 45002 | 4| 50,0 | | | ol 1| 00 |

RA - SilGivky B 8102 | 4(500(2 1 4|500(1 1 4|250(1 1 4|250 | | | | |

Radostice A - RA 71102 1 4{500(2 1 4|500(1 1 4250 | | | | | |

RA - Tisnov D 16:2 /(3 1 4| 7504 | 4{100,0 | 4 | 4100,0 | | | | 4 | 4100,0

SK Kufim B - RA 810 3 1 4[750(3 | 4|750(2 | 4500 | 50,0 | | | | |

stav nastavbové casti 7-0-3 |[2s | 40| 62,5 |[28 | 37| 75,7 [[18 | 35| 51,4 |[20 | 32| 62,5 [ [ I 1| 7)143(4 | 4|100,0

CELKEM 14-0-7 |51 | 8| 63,85 | 79|/ 69,6 (38 | 77| 49,4 |38 | 62| 61,3 I 1| 10)10,0(3 | 4|7501 | 8[125(4 | 4|100,0




